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.B.C &D Ounly
.C.D & E Only
A, D & E Only

b =

S ]

1)
(2)
(3)
(4)

H W N R




1.AB & C Only
2.B.C & D Only
3.C.D & E Only
4.AD & E Only

1) 1

() 2

3) 3

(4) 4

1[Option ID=19285]

2[Option ID=19286]

3[Option ID=19287]
4[Option ID=19288]

Sl. No.48
QBID:1101048

et =73 wigar ol Ul fosies wRR sifef -
A ¥ag
B. 3flHa QHTuil
C. EHd
D.3Igd
E. 83191 graamft

Choose the correct answer from the option given below:

A& C Only
.B & D Only
.B & E Only
.D &E Only
(1) 1
(2) 2
3) 3
(4) 4

b =

S ]

B e N
Al
B. St
C. Jisa

D. dasy

2

‘E;]Jh-nilj _;,ﬁ

1. A& COnly
2.B&D Only
3.B&E Only
4.D & E Only

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=19289]

2[Option ID=19290]

3[Option ID=19291]
4[Option ID=19292]

Sl. No.49
QBID:1101049




it ST o T onfef -

A. 5 TTET

B. 390

C. g4 gt

D. Yl IR
E. $9 UHHMI

Choose the correct answer from the option given below:

1.A & B Only
2.B & C Only
3.C&DOnly
4.D & E Only

(1) 1

(2) 2

3) 3

REEPE
385 e e e fulS s B3 s

A& B Only
.B & C Only
.C &D Only
.D & E Only

O PR S

1)
(2)
(3)
(4)

A W N R

1[Option ID=19293]
2[Option ID=19294]
3[Option ID=19295]
4[Option ID=19296]

Sl. No.50
QBID:1101050

ddd ol YIserd Mg & g -

A. Gy et
B. I Hoiaruft

C. WY TBT
D. I¥<a Aret
E. U0, B

Choose the correct answer from the option given below:

A & B Only
.C & D Only
.B & C Only
.C & E Only

R

1)
(2)
(3)
(4)

H W N R




Al plh Sligia

-

A Ve cus
B. sk ol
C. M5 2

D. s il
E. Jes &

g i s
s s s Sl fpla g (2 s

.A & B Only
.C & D Only
.B & C Only
.C & E Only
1) 1
(2) 2
3) 3
(4) 4

| SR

Y

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]

Sl. No.51
QBID:1101051

T AIER e -

A PISN BT

B. T8 3114d Reid!

C. GAIp! 1d HigHE 1d
D.

E.¥a9

Choose the correct answer from the option given below:

A & B Only
.B & C Only
.C &D Only
.D &E Only
(1) 1
) 2
3) 3
(4) 4

e L b2

-l 1% 5 2
__.z Jp.,...?j}_a.

A, B

I
B. Ay Sl ol
C. B (B ld
D. =~

E. ==

a5 ; Ak 158 2
H5 e maaa Sle (s g 0 Cus

.A&B Only
.B & C Only
.C &D Only
.D & E Only
1)1
(2) 2
(3) 3
4) 4

|

= L

1[Option ID=19301]
2[Option ID=19302]
3[Option ID=19303]
4[Option ID=19304]

Sl. No.52
QBID:1101052




IR HRAT0i3] O A1 3f1igi -

A. frRez Ior].
B. THIFERT 97
C. g3t g
D. S4B B
E. [ St @

Choose the correct answer from the option given below:

A & B Only
.B & C Only
.C &D Only
.D &E Only

R

1) 1
) 2
3) 3
(4) 4

Jal S0 s E Aale pl Sl

B. AB sl
C. L _?3\_3)'.‘
D. JElgy

E. Ui 2 (&

.A&B Only
.B & C Only
.C & D Only
.D & E Only

| SR

R Y

1)
(2)
(3)
(4)

A W N R

1[Option ID=19305]
2[Option ID=19306]
3[Option ID=19307]
4[Option ID=19308]

Sl. No.53
QBID:1101053

AT fgsRfter o wrion] snff -

AW

B. 3Rl

C. & 3fegel IGHM
D. TarRoy

E. gel3f off a1

Choose the correct answer from the option given below:

.B & C Only
A & B Only
.B &D Only
.C & E Only

il o Mt

1)
(2)
(3)
(4)

H W N R




o 7 -

1[Option ID=19309]
2[Option ID=19310]
3[Option ID=19311]
4[Option ID=19312]

Sl. No.54
QBID:1101054

AR U Sl e Sigh -

A ITES
B.BRedg
C. I
D. HETHRA
E. a1 =

Choose the correct answer from the option given below:

A & B Only
.B & C Only
.C &D Only
.D &E Only
(1) 1
2) 2
3) 3
(4) 4

e L b2

FE W g W .t
ol S s Gy al S

1. A& B Only
2.B & C Oaly
3.C&D Only
4.D & E Only

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19313]

2[Option ID=19314]

3[Option ID=19315]
4[Option ID=19316]

Sl. No.55
QBID:1101055




HE WIS, O B - o Togsi g -

A. Tfesl a0

B. 9913 Uil

C. YHYH Ule gef dug
D. AT 35y
E.$lS

Choose the correct answer from the option given below:

.B & C Only
A & B Only
.C & E Only
.D & E Only

il o et

1)
(2)
(3)
(4)

e pena s S o £ SlesS ol

H W N R

A LBy i

B. A0 s

C. sl o g ig® hats
D. e ¢ W

E. 2

(

[

mre s mmia Gl fpld g (2 s

.B & C Only
A & B Only
.C &E Only
.D & E Only

| SR

R Y

1)
(2)
(3)
(4)

A W N =

1[Option ID=19317]
2[Option ID=19318]
3[Option ID=19319]
4[Option ID=19320]

Sl. No.56
QBID:1101056

ART HRE 310131 o Su=ard afg -

Choose the correct answer from the option given below:

A & B Only
.B & C Only
.C&D Only
.D & E Only

e b o

1)
(2)
(3)
(4)

H W N R




Y T | e T O e
R S T e Pt

MY Nwp
4

i | o P A
s Sl maa Gl (s g Jio s

.A & B Only
.B & C Only
.C & D Only
.D & E Only
1)1
(2) 2
(3) 3
(4) 4

| S

I Y

1[Option ID=19321]
2[Option ID=19322]
3[Option ID=19323]
4[Option ID=19324]

Sl. No.57
QBID:1101057

SOHT TR S Q5 o Hergan 3nfef -

A ST T 3fay
B. g wgurd
C. 38 &A1 v
D. T a4 faa™
E.fiRg off @

Choose the correct answer from the option given below:

A & C Only
.B & D Only
.C & E Only
.D & E Only
1) 1
(2) 2
3) 3
(4) 4

b=

IS 51

) ’ S Lo LT .
R L:.Hun_j;_’-f_ﬁv__}-v__li}_ﬁ‘_ﬁjd@.

1. A& C Only
2.B &D Only
3.C&E Only
4. D & E Only

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=19325]

2[Option ID=19326]

3[Option ID=19327]
4[Option ID=19328]

Sl. No.58
QBID:1101058




Hegdl Wicid TRIgH ol 63 forell o Su=ar Sfgl -

A gl
B. ¥AUfd
C. HeRIUl
D. &
E. Ta%]

Choose the correct answer from the option given below:

1. A& B Only
2.B & C Only
3.C&DOnly
4. D & E Only

1) 1

(2) 2

3) 3

(4) 4

Oal il S8 Eny pua a2 D)

y
e o, R AT

g ® 'f'_j
E F

L™

mOnwpe
G

.E

i L o
s s s Sl fpla g (12 s

A & B Only
B & C Only
C & D Only
D & E Only

| SR

e o

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19329]
2[Option ID=19330]

3[Option ID=19331]
4[Option ID=19332]

Sl. No.59
QBID:1101059

f&eft Merdte g o anfef -

. BY. I8 THTER difedr gfHaRid]
é.%ﬁ%m
g mqﬁaﬁ‘cﬁ

Choose the correct answer from the option given below:

B & C Only
A &D Only
A & B Only
C &D Only

R b

(1) 1
(2) 2
3) 3
(4) 4




T R Tt | WA TTR R
R LS ) i a2 gdlaar

A Seosigled pilealy Sl
B. Seostnbial g

C. st e

D. Sosis) A

E. Aosse 85

=l

: s La sk By
L._lu..‘_ldqcllaﬁau.a‘_rs‘j_,;.-_ﬂh

.B & C Only
A &D Only
A & B Only
.C & D Only
1)1
(2) 2
(3) 3
(4) 4

| S

N Y

1[Option ID=19333]
2[Option ID=19334]
3[Option ID=19335]
4[Option ID=19336]

Sl. No.60
QBID:1101060

fErgit SretigaT o ATfda e -

A, I
B. [adrRM™
C. e gpraal
D. Sid

E. 98R &a%

Choose the correct answer from the option given below:

A& C Only
.B & D Only
.C & E Only
.D & A Only
(1) 1
(2) 2
3) 3
(4) 4

b =

S ]

Al gl B ) e
A, Sl
B. P.I)‘gr.‘
C. Jdss2 B
D. =&
E. s
3 g i e (g 38
A& C Only
.B & D Only
.C & E Only
.D & A Only
1) 1
2) 2
3) 3
4) 4

| S

R Y

1[Option ID=19337]
2[Option ID=19338]
3[Option ID=19339]
4[Option ID=19340]

Sl. No.61
QBID:1101061




319} g1 o WIgRf o Ao Ry -

A H
B. 39

C. Hiep gl
D. IR
E. ATS1 ¥ 3fa
Choose the correct answer from the option given below:

.A &B Only
.B & E Only
.E & D Only
.D & E Only
1 1
) 2
3) 3
(4) 4

R R

cad N . (R T =
okl e et o ) s o Tl oAl

A, 3%3-*
B.z!

D.

E. e ¢

3 T vt
s e maa fle fplE g (B2 s

A & B Only
.B & E Only
.E &D Only
.D & E Only
1) 1
(2) 2
(3) 3
(4) 4

il S et

1[Option ID=19341]
2[Option ID=19342]
3[Option ID=19343]
4[Option ID=19344]

Sl. No.62
QBID:1101062

Rielt weroiter @ Faif AIg Slasi 7 o6y g -

A. T GrEdrf

B. Higd &egAl

C. o g

D. dR1 HIdemft
E. Yot Iameigmit

Choose the correct answer from the option given below:

AB & C Only
.B.C & D Only
.C.D & E Only
.D.E & A Only
1)1
(2) 2
(3) 3
(4) 4

F e




¥ g Sl | T
3 s s e[S g (A2

1.AB & C Only
2.B,C & D Only
3.C.D & E Only
4.D.E & A Only

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19345]

2[Option ID=19346]

3[Option ID=19347]
4[Option ID=19348]

Sl. No.63
QBID:1101063

favers ai Ui o g anfef -

A foTFEe 999
B. 9ift

C. 3%% =T
D.gd

E. PWI G

Choose the correct answer from the option given below:

A & C Only
.B & D Only
.C & E Ounly
.C & D Only
(1) 1
(2) 2
3) 3
(4) 4

e 2 b2

M pliacy s ooy

4

A, gy daile

- T

B. S
C. dadl s
D.das

) R
E. el -

o
¥ g Sl | T
sl e fle (S g (2 ok

LA & C Only
.B & D Only
.C & E Only
.C & D Only
(1) 1
(2) 2
3) 3
(4) 4

| SR

N Y

1[Option ID=19349]
2[Option ID=19350]
3[Option ID=19351]
4[Option ID=19352]

Sl. No.64
QBID:1101064




et wiae anfef -
A. XY BTl
B. YITd1H Ja-oft
C. QR SATaruil
D. He¥I SI3HATl
E. 44 Syait

Choose the correct answer from the option given below:

A & B Only
.B & C Only
.C &D Only
.D &E Only

R

(1)
(2)
(3)
(4)

H W N R

AL P [T
el e maa e pld g (B Cuk

1. A& B Only
2.B & C Only
3.C & D Only
4.D & E Only
(1)
(2)
(3)
(4)

D W N R

1[Option ID=19353]
2[Option ID=19354]
3[Option ID=19355]
4[Option ID=19356]

Sl. No.65
QBID:1101065

U1, Y srorarofte o HengA fef -

A fge
B. [ @ wan
c. fagi =1 un

D.TAPd
E. 952 U g%

Choose the correct answer from the option given below:

.B & C Only
.C&D Only
.D & E Only
. A & E Only

da b

(1)
(2)
(3)
(4)

A W N =




-‘ziuwhéélﬁl‘jﬂﬂj}’,}”_—ﬁ}j

AL

B. s &gl sl
C. 18 5% 5355
D. B E

E 2

It
ol
ST

3 en o ga e e (g 30 i

.B & C Only
.C&D Only
.D & E Only
A &E Only
1)1
(2) 2
(3) 3
(4) 4

|

e Y

1[Option ID=19357]
2[Option ID=19358]
3[Option ID=19359]
4[Option ID=19360]

Sl. No.66
QBID:1101066

Match List T with List IT

LISTI LISTIT

A RIST éaﬁ %d sl
B [RPRY i %’rqw\;%aﬁﬁﬁ
C. [3a=i L [ HIRE dg

D. [Hic IV. [ ORI 4 sty

Choose the correct answer from the options given below:

1. A- TV, B-II, C-IIL. D-I
2. A-L. B-IIL. C-I'V, D-II
3. A.IL B-1, C-IV, D-III
4. A-L, B-II, C-III. D-IV
1) 1
(2) 2
(3) 3
(4) 4
LISTI LISTII
A |sL I o) A sn U psm g
B. |Culbs I et psln S s 08 2l »
C_ o ML oo it o
D s V. [edS o gl Ose

0 i Wt
ipta e mena e g S0

IV, B-II, C-II, D-I

1 A-

2. AL B-II1, C-IV, D-II
Az
A-

3. A-II, B-I, C-IV, D-III
4. A-1, B-TI, C-ITI, D-IV

1) 1

(2) 2

(3) 3

(a) 4

1[Option ID=19361]
2[Option ID=19362]
3[Option ID=19363]
4[Option ID=19364]

e L IT o geh ST s gek

Sl. No.67
QBID:1101067




Match List I with List IT

LISTI LISTII
A [G¥el L [gHe
B. [farel il S
C. [arst I [6iTS]
D. [ NASIG]

Choose the correct answer from the options given below:

1. AL B-II, C-IIL, D-IV
2. A-II, B-I. C-IV, D-III
3. A-III, B-IL, C-I, D-IV
4. A-IV, B-III, C-II, D-I

11

(2) 2

(3) 3

4) 4

LISTI LIST IT

A |l I |sem
B. [Js=s i =
C. |9 i S
D. |z v |4

1. A-L, B-1I. C-III, D-IV
2. AT B-I, C-IV, D-ITI
3. A-IIL B-II, C-I, D-IV
4. A-IV, B-III, C-II, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19365]

2[Option ID=19366]

3[Option ID=19367]
4[Option ID=19368]

e L TT o g ST Lo g

Sl. No.68
QBID:1101068

Match List T with List IT

LISTI LISTII
A fEgRl I [dg
B. [d9 IL ol
c. f@ar L [\Jifal
D. [l IV |3t

Choose the correct answer from the options given below:

. A-I, B-IIL, C-III, D-IV
. AL, B-1, C-IIL, D-IV
. A-IIL, B-II, C-IV, D-I
. A-IV, B-IIIL, C-II, D-I
1) 1
() 2
(3) 3
(a) 4

B




site L T o el (ST o pod

LISTI LIST II
A .,'é_)_;ﬁ I jus
B. e il s
C. |8 III s
D, Ll IAY jJJ—<|

A i vt
2R e e Tl g8 S L

. A-I, B-II, C-III, D-IV
. A-TI, B-1, C-III, D-IV
. A-TIL, B-1I, C-IV, D-I
. A-IV, B-TI, C-II, D-I
(11
(2) 2
(3) 3
(4) 4

| S

Y

1[Option ID=19369]
2[Option ID=19370]
3[Option ID=19371]
4[Option ID=19372]

Sl. No.69
QBID:1101069

Match List I with List IT

LIST I LIST II
A [QIE Tdi® L [{d@s
B. [Gdq WA I |[gdi®
C. [ 1L [@aH
D. [4% ‘dWr V. REge

Choose the correct answer from the options given below:

1. A-III, B-IV, C-IL, D-I

2. AL B-1IL C-IV, D-I
3. A-IV, B-TII, C-II, D-I
4. A-I, B-1I, C-IIL. D-IV

(1)1
(2) 2
(3) 3
(4) 4
se L T o ggd (ST o g
LISTI LISTII
A. '-r,': I.s‘J_'; ]: B z -
B,  |fwsesmdau I s
[ ML .=
D [y o IV |z

. -t . oLy
e s e e (W8 g B2 s

1. A- IIL, B-IV, C-II, D-I

2. A-TI, B-III, C-IV, D-I
3. A-IV, B-III, C-II. D-I
4, A-I, B-II, C-III. D-IV
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19373]
2[Option ID=19374]
3[Option ID=19375]

4[Option ID=19376]
- - |




Sl. No.70
QBID:1101070

Match List T with List IT

LISTI LISTII
A Bd L [@rs
B. [Ofgsi L \y
C |[gEr I [gesll
D. [61g V. pEart

Choose the correct answer from the options given below:

1. A-IT, B-III, C-IV, D-I
2. A-TIT, B-IV, C-1I. D-1
3. A-IV, B-III. C-I1. D-I
4. A-L, B-II, C-III. D-IV
1) 1
(2) 2
3) 3
(4) 4
LISTI LISTII
A |lmg L e
B. |y 1L 3
C. fgolua 1. | ealg
D. |3 V. |si=

2 o s fe Cplsp D s

1. A-II, B-TII, C-IV, D-I
2. A-III, B-IV, C-IL, D-I
3. A-IV, B-III, C-II, D-I
4. A, B C-IIL, D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19377]

2[Option ID=19378]

3[Option ID=19379]
4[Option ID=19380]

e S IT o ged ST e pgd

Sl. No.71
QBID:1101071

Match List I with List IT

LIST I LISTII
Eolg AN L [efSeshafad
BI=! B 1L ORI el

GlaH il oo L[5 Ars@l
EIECRIE IV. [dfofebl gaTd

S(o|w|=

Choose the correct answer from the options given below:

1. A-IV, B-II, C-1, D-TII
2. A-IL, B-IIL, C-IV, D-I
3. A-I, B-II, C-III, D-IV
4. A-1II, B-IV, C-1, D-II

1) 1

(2) 2

(3) 3

(4) 4




site L T o el (ST o pod

LISTI LISTII
A ot jee T
B. [l gis IL Judlady
C. s oo T EERT
D, osf osbil IV. | s
Ll s e (S g 5D s
1. A-IV, B-II, C-I, D-III
2. A-I1, B-III, C-1V, D-I
3. A, B-IL, C-IIL, D-IV
4. A-TII, B-IV, C-I. D-II
(11
(2 2
(3) 3
4) 4
1[Option ID=19381]
2[Option ID=19382]
3[Option ID=19383]
4[Option ID=19384]
Sl. No.72
QBID:1101072
Match List I with List IT
LIST I LISTII
A RERisE L [g® ol faurg urgy]
B. [Hided il gl PISaH Wl
Tl U]
C [ARwd Il [HUY % ARY
D. Edima IV. 3R fago

Choose the correct answer from the options given below:

1. A-IL, B-III, C-IV, D-I
2. A, B-II, C-III, D-IV
3. A-TI1, B-IV, C-II, D-I
4, A-IV, B-III, C-II, D-I
1) 1
) 2
(3) 3
4) 4
LIST1 LISTII
A oo i G e
oy L s llE n
B. ik L . sEe o
[ L |5l S o
D. |Joass V. |5f e

L35 s e e i85 33 L
=

1. A-T1, B-TII, C-IV, D-I
2 AL B-II, C-III, D-IV
3. A-TII, B-IV, C-II. D-I
4. A-IV, B-I1I, C-II. D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19385]

2[Option ID=19386]

3[Option ID=19387]
4[Option ID=19388]

e L IT S ged ST s gk

Sl. No.73
QBID:1101073




Match List I with List IT

LIST I LISTI
A [gE9 L [io11-1987
B. |g@lq I [1916-2004
c [eaite I 1910 - 2003
D. [gofarufl V. |1885-1947

Choose the correct answer from the options given below:

1. A-II, B-III, C-IV, D-I
2. A-IIL B-II, C-1. D-IV
3. A-IV, B-IIL, C-II, D-I
4. A-1, B-II, C-III, D-IV
11
(2) 2
(3) 3
4) 4
LISTI LISTII
A s I [1911—1987
B. [Js. I [1916—2004
C. AL 1. (1910 - 2003
D. |21 IV. [1885—1947

s s e e (s s i e

AL B, G-IV, DA
. A-IL, B-TI, C-I, D-IV
. A-IV, B-III, C-II, D-I
. A-I, B-II, C-III, D-IV
11
() 2
(3) 3
(a) 4

b=

S Y

1[Option ID=19389]
2[Option ID=19390]
3[Option ID=19391]
4[Option ID=19392]

e L TT o g ST ooy

Sl. No.74
QBID:1101074

Match List I with List IT

LIST 1 LISTII
A [@@ar ol SRR
B. [dcad] LI C MR
S EE 1L Hied
D. EIRISTR Iv. 30"

Choose the correct answer from the options given below:

1. A-II, B-IIL, C-IV, D-1
2. A-1, B-11. C-II1, D-IV
3. A-1II, B-1IV. C-1, D-I1
4 A-IVB-IIIC-1D-1I

(1) 1

(2) 2

3) 3

(4) 4




LISTI LISTII
A Lsiss i
B. [ i N
C. [x2 il EEE
D. |sfls 503 IV, [

2R e e Tl g8 S L

. A-TI, B-TII, C-IV, D-I
. A-I, B-II, C-III, D-IV
. A-TIL, B-IV, C-I, D-II
LA-IVB-IIC-1D-1I
1) 1
(2) 2
(3) 3
(a) 4

b =

e Lo

1[Option ID=19393]
2[Option ID=19394]
3[Option ID=19395]
4[Option ID=19396]
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Sl. No.75
QBID:1101075

Match List T with List IT

LIST I LISTII
A [thas I [g< graanuit
B. [@HH I [T HR=grl
C. [gaantt L | el
D. [ATcilE — g v [ g8

Choose the correct answer from the options given below:

1. A1, B-II, C-III. D-IV
2. A-IV, B-II1, C-11, D-I
3. A-TII, B-IV, C-IL D-I
4. A-IL, B-IIL, C-1. D-IV

11

(2) 2

(3) 3

(4) 4

LISTI LIST II

A L= I | suls ytim
B. |zl< i T
C. |Ance I |l ose
D. | s A

o ol i =1
L s e e (8 52

1. A-I, B-II, C-III, D-IV
2. A-TV, B-T1, C-II, D-I
3. A-TIL, B-IV, C-II, D-I
4. AL, B-III, C-I, D-IV
(1)
2
3)
(4)

A W N R

1[Option ID=19397]
2[Option ID=19398]
3[Option ID=19399]
4[Option ID=19400]
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Sl. No.76
QBID:1101076
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Choose the correct answer from the options given below:

1.A.CBDE
2.B.CDAE
3.ED.A.CB
4.C.DB.AE

1) 1

(2) 2

(3) 3

(4) 4
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iR A e e (S Rl

.A,CBDE
.B.C.D.AE
.ED.A.CB
.C.D.B.AE
11
(2) 2
3) 3
(4) 4

UER FUR NG

1[Option ID=19401]
2[Option ID=19402]
3[Option ID=19403]
4[Option ID=19404]

Sl. No.77
QBID:1101077

SR Fa o fearef= o semea o envR d Rrafyar aifea -
A TS T
B. fguags
c. wWaay
D. ciemn deRIa |
E.  UTSIAl Higis o

Choose the correct answer from the options given below:

.C.BD.AE
.B.AD.CE
.B.CE.AD
.AB.CDE
(11
(2) 2
(3) 3
(a) 4

b b
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.C.BD.AE
.B.AD.CE
.B.C.E.AD
.AB.CDE
(1) 1
(2) 2
(3) 3
(4) 4

e

1[Option ID=19405]
2[Option ID=19406]
3[Option ID=19407]
4[Option ID=19408]

Sl. No.78
QBID:1101078

e HBISH 3fATS AT ka1 o fHaaer aiedl -

A
B.
C. &3 grgarft
D
E

WY T

Choose the correct answer from the options given below:

1.ED.C.B.A
2.AB.CDE
3.D.AECB
4, C.B.D.E.A
1) 1
() 2
3) 3
(4) 4
il e e DES Sl 3l ) edlsl A
Jass 5l A
"_’_‘-!_,a:j-a s» B
;"’lfﬁ'{_.u"—;ﬁ .C
s g D
"y wx E
S5 s e ke S5 s
1.ED.CBA
2.ABCDE
3.D.AECB
4, C.B,D.EA
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=19409]
2[Option ID=19410]
3[Option ID=19411]
4[Option ID=19412]

Sl. No.79
QBID:1101079
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Choose the correct answer from the options given below:

MmO ow

C.BAED
E.AD.B.C
D.C.AB.E
AB.CDE

o e el

1) 1
(2) 2
(3) 3
(4) 4
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S alisr
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3 el gl
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mUnm>

e ey
i
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HE i e Jle 8y B0 cuh

1.C.B.AED
2.E,AD.B.C
3.D.CAB.E
4. A.B.CD.E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19413]

2[Option ID=19414]

3[Option ID=19415]
4[Option ID=19416]

Sl. No.80
QBID:1101080

feparaf o faafaar aiear -

A ReEFIIEH
B. Heb oHI-U-Hald
c. Qg i g
D. Ridiyme ¥s
E. RHyUREymydisd adgs o
Choose the correct answer from the options given below:
1.AB,C.DE
2.EB.CDA
3.CDBAE
4.B.CDEA
1) 1
(2) 2
3) 3

(4) 4




sl il i

A Meh e _,...._' CS
B. .Id‘l-j.uﬁ.'ll ,:.‘_I’Ln

C. "5 ey g0l
D '& i |h':._¢|d.§ 15,*_;,__

- 3oty Fa | e
E. Oge st Stimsa fg rue phb ¢ i

ABC.DE
.E.B,C.D.A
C.D.B.AE
.B.CDEA
1) 1
2) 2
3) 3
(4) 4

il ot

1[Option ID=19417]
2[Option ID=19418]
3[Option ID=19419]
4[Option ID=19420]

Sl. No.81
QBID:1101081
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Choose the correct answer from the options given below:

MO0 W

.AB.CDE
.D.B.AEE.C
.D.AB.CE
.C.ABED
(11
() 2
(3) 3
(a) 4

O B

1.AB.CDE
2.DBAEC
3. DABCE
4. CABED

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19421]

2[Option ID=19422]

3[Option ID=19423]
4[Option ID=19424]

Sl. No.82
QBID:1101082
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Choose the correct answer from the options given below:
.D,E,A,B, C

1
2
3.
4

np o
W m
Hon
O mw

1)1

(2) 2

3) 3

(4) 4

aehld bl a0 A S B o el
A, I__;' Js_...
B. A& x
C. G585
D. ""'JLJL,.'
E.

=Ly § o

4 PR et
FE 5 i maia Jle (8 B2

1.D,E.A.B, C
2.D.E.A,C, B
3.A.B.C,D.E
4.C,B.A.E.D

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19425]
2[Option ID=19426]
3[Option ID=19427]
4[Option ID=19428]

Sl. No.83
QBID:1101083
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C
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. ey <Rfmm
E.  GHEH g3 Sy

Choose the correct answer from the options given below:

D.B.C.A.E
C.D.A,B.E
B.C.DAE

A.B.C.D,E

oo el

1 1
(2) 2
3) 3
(4) 4
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A pk #2358
B.la uae
C. 48 s s )

e T
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E. s led ad ad

At \ ad . 1 H "
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1[Option ID=19429]
2[Option ID=19430]
3[Option ID=19431]
4[Option ID=19432]

Sl. No.84
QBID:1101084
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Choose the correct answer from the options given below:

monwEs

.B.A.C.D.E
.C,B,AE,D
L

E

T
» o
W E
nm

1.B.A,C.D.E
2.C.B.A.E.D
3.D.A.B,E.C
4.A.B.C.D.E

(11

() 2

(3) 3

(4) 4

1[Option ID=19433]
2[Option ID=19434]




3[Option ID=19435]
4[Option ID=19436]

Sl. No.85
QBID:1101085

A, Ty arR S g
B. ol fbam ¥ ufes
c. 3

D. s3iOfdu

E. dgsiiyl

Choose the correct answer from the options given below:

=
B ke
C.139)

D. S

E “.-"_.....!___.E._

1.E,D,A,B,C
2.B.D.C,A,E
3.C,D.B.E.A
4.A.E.B.D,C

(1 1

(2) 2

(3) 3

(4) 4

1[Option ID=19437]
2[Option ID=19438]
3[Option ID=19439]
4[Option ID=19440]

Sl. No.86
QBID:1101086

Statement —I: ﬂﬂzma’awilwﬁﬁqaaaﬁl
Statement — II: aﬂWﬂwmﬂﬁl

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II 1s false.
. Statement I is false but Statement I 1s true.

e

(1)
(2)
(3)
(4)

D W N R

w13 2 An eyl A 5=
T sl J'J«‘s\-_ﬂ‘_—l "___|._:u.|) A

_';l.:j— II: - .'_.:1'...: .E.E:-.m inal oA
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. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement 11 is true.
(1) 1

L R




(2) 2
(3) 3
(4) 4
1[Option ID=19441]
2[Option ID=19442]

3[Option ID=19443]
4[Option ID=19444]

Sl. No.87
QBID:1101087

Statement —I:  GeUT0T TSATVN 3 o o 1911 5. § famy |
Statement —11:  SHedTUl STSaUl G, 3R], BRI T 33 Sl 3o 18|

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.

. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
1) 1

(2) 2

3) 3

(4) 4

L b2 =

oyt : 2o : ;o AT Ly
Ols—T1 s5af1011 aa s & S sl Jls,
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5
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2 S e TS e e JalS s 50 i 8 S U0 S 0 8

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II 1s false.
4. Statement [ is false but Statement IT is true.

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=19445]
2[Option ID=19446]
3[Option ID=19447]
4[Option ID=19448]

Sl. No.88
QBID:1101088

Statement —I:  XTGTRIT GTg BIC ol 91 wiecd el Srrgami off Ifear 3mg |
Statement — II: W&Wﬂﬁﬁﬁﬂ@fﬂaﬁﬁmﬁﬂgl

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement I is incorrect.
. Statement I is incorrect but Statement IT is correct.
(1) 1

(2) 2

3) 3

(4) 4
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. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement I is incorrect.
. Statement I is incorrect but Statement IT is correct.
(1) 1

(2) 2

(3) 3

(4) 4

| S
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1[Option ID=19449]
2[Option ID=19450]
3[Option ID=19451]
4[Option ID=19452]

Sl. No.89
QBID:1101089

Statement —I: gf’ﬁ?ﬂ wwﬁﬁwml
Statement —11: gl 41, 07 flb e TYfies STEREER TR |

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement I is incorrect.
. Statement I is incorrect but Statement IT is correct.
(1) 1

(2) 2

(3) 3

(4) 4
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. Both Statement I and Statement IT are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement [ is incorrect but Statement II 1s correct.

|

R Y

1)
(2)
(3)
(4)

H W N R

1[Option ID=19453]
2[Option ID=19454]
3[Option ID=19455]
4[Option ID=19456]

Sl. No.90
QBID:1101090

Statement —I:  711fd g [HgTeUll fihed SRR 33|
Statement — II: Wwww 5!1%'[

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement I is incorrect.
. Statement I is incorrect but Statement II is correct.
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. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement I is incorrect.
. Statement I is incorrect but Statement IT is correct.
(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=19457]
2[Option ID=19458]
3[Option ID=19459]
4[Option ID=19460]
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19461]
2[Option ID=19462]
3[Option ID=19463]
4[Option ID=19464]
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(1)
(2)
(3)
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1[Option ID=19465]
2[Option ID=19466]
3[Option ID=19467]
4[Option ID=19468]

Sl. No.93
QBID:1101093

fRifergf=y # St U Sfidlar it ge spami i gelas oig | gaig Sit gu srai Ry S depdisr & fep 7
3T 33 | &aiE Sl gol e Rish qale gt gfswi ur| gaig i, Sid il dddl Feidd, 3 drd g | [t
a4l | ordl fagiar snfeT ¢ dgun déal g1 SN Higq YR B0l add Usisl Agal HiigH|
UoTgT, gig UTE Sil S¥ddisf ol Aiid g1 USTs™ Sl digsll HgTad 3iTe, o St SR, 3iaid |f gt
it aMMg | SR AT Sff goiT gasr 9i, dots i+ | gdf AidT a8 | gorsf off sradt A 318 U9 3iER. IS du,
dﬁﬁ@ﬁdﬁ@ﬁwﬂﬁwgwﬁaﬁsﬂﬁﬂﬂfﬁ%daqml PUIT], H, DD, qosﬁfdﬂﬂ&m%m
s shor AT S S 2 e e J i Gl e e a0 AT s IS Gl s bl e dra
S al iz Ul e e (ol laiga s ﬁ*ﬁwg-‘ sdios AT Y 53l (o g g0 =-J= sel e U ada ol 0 gl Saie=
Gl B3 a0 8 e dilge sl s 00y ._J-*‘~—'—<‘—w—'~—-'.7-1—“~ﬂb-=—,1- Wy ool 18 ey g 5 = )5 5 alaa
Aqﬁ'—'-ﬁuyh:-';mﬂ"'—‘ﬁ‘s:—g@‘d-&gﬁ'ﬁuﬁ—' A B g0 Oy el Al L gy o JY ol T (o8 o
Al K= e 3 i s (s s g o AU o S L‘*‘")‘.—ﬁ

1. e ol

2. |ICT ST
3. T8 ST91 off
4. 7% e ST

1) 1

(2) 2

3) 3

(4) 4




AT Ly TS 13y

e Sl gea

b2

la 1a

Lad

s L s

4.l =l 5 £
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19469]
2[Option ID=19470]

3[Option ID=19471]
4[Option ID=19472]
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1[Option ID=19473]
2[Option ID=19474]
3[Option ID=19475]
4[Option ID=19476]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafeaa arferet & au 2010 31 2020 & GRF A1d YR AR A1Ha: AR, fGee), gavars, 9oL, 995,
Oias SR Diaedl § sigel I Yafid Aieial & Ridaal o1 ufowd faao exfor mar g 1 ad 2010 @R
2020 P GRM 57 TER1 & RG] & Ho U] HH: 5.4 TG 3R 8.6 WG © | 59 aniere! § f§U 70
SHiFs] & SATYR R WY P IR alfol -

il @1 Rfdaal 1 wevar faarm

il &l [idaal &1

e IGEELURED!
D010 020
CRINIE 13% 2%
Sl D1% 0%
eoaEG  |10%  [8%
quy 12%  [6%
EEE 8% 10%
s 10%  [18%
DDAl 4%  [16%

What is the difference between the number of job vacancies available in Bangalore in the years 2020 and 2010
:

. 108200
113120
. 118400
. 96400
1)1
(2) 2
3) 3
(4) 4

g 2020 3 2010 H STaR 1 Suas Sieidl of Ridag! o1 9en ¥ sfdae fGa e 2

. 108200
. 113120
. 118400
. 96400
1)1

(2) 2

3) 3

(4) 4
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafeaa arferet & au 2010 31 2020 & GRF A1d YR AR A1Ha: AR, fGee), gavars, 9oL, 995,
Oias SR Diaedl § sigel I Yafid Aieial & Ridaal o1 ufowd faao exfor mar g 1 ad 2010 @R
2020 P GRM 57 TER1 & RG] & Ho U] HH: 5.4 TG 3R 8.6 WG © | 59 aniere! § f§U 70
SHFS] & SR R WY B IR alfol -

it ot Rfdaal &1 UeaR fomo

A1l Bl (il &l
e IGEELURED!

D010 2020

CRINIE 15% 2%

ISl P1%  [20%

eoXEG  |10%  [8%

quy 12% 6%

EEE 8% 10%

REE 10%  [18%

BEADA 4%  [16%

What is the average of number of job vacancies available in Hyderabad in the years 2020 and 2010 ?

1. 41080
2.42740
3. 61400
4, 62800
1) 1
(2) 2
3) 3
(4) 4

a¥ 2020 3iR 2010 H 8R141E & IUa AibRal 3 Rfdaai ot 3id G b g 2

1. 41080
2. 42740
3. 61400
4. 62800
1) 1
@ 2
(3) 3
4) 4
1[Option ID=19505]
2[Option ID=19506]

3[Option ID=19507]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafeaa arferet & au 2010 31 2020 & GRF A1d YR AR A1Ha: AR, fGee), gavars, 9oL, 995,
Oias SR Diaedl § sigel I Yafid Aieial & Ridaal o1 ufowd faao exfor mar g 1 ad 2010 @R
2020 P GRM 57 TER1 & RG] & Ho U] HH: 5.4 TG 3R 8.6 WG © | 59 aniere! § f§U 70
SHFS] & SR R WY B IR alfol -

it ot Rfdaal &1 UeaR fomo

A1l Bl (il &l
e IGEELURED!

D010 2020

CRINIE 15% 2%

ISl P1%  [20%

eoXEG  |10%  [8%

quy 12% 6%

EEE 8% 10%

REE 10%  [18%

BEADA 4%  [16%

What is the total number of job vacancies available in Chennai in 2010 and in Mumbai in 20207

. 1.92 lakh
. 1.98 lakh
. 2.04 lakh
.2.16 lakh
1) 1
(2) 2
3) 3
(4) 4

ay 2010 § 995 3R a¥ 2020 ¥ giag 4 Suas A6 Rl &1 Ridadl &1 o =1 fea-l g 2

.1.92TNg
.1.98 Tlg
.2.04 TME
.2.16 TG
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafeaa arferet & au 2010 31 2020 & GRF A1d YR AR A1Ha: AR, fGee), gavars, 9oL, 995,
Oias SR Diaedl § sigel I Yafid Aieial & Ridaal o1 ufowd faao exfor mar g 1 ad 2010 @R
2020 P GRM 57 TER1 & RG] & Ho U] HH: 5.4 TG 3R 8.6 WG © | 59 aniere! § f§U 70
SHiFs] & SATYR R WY P IR alfol -

il @1 Rfdaal 1 wevar faarm

il &l [idaal &1

e IGEELURED!
D010 020
CRINIE 13% 2%
Sl D1% 0%
eoaEG  |10%  [8%
quy 12%  [6%
EEE 8% 10%
s 10%  [18%
DDAl 4%  [16%

If the number of vacancies in Pune is 48000 in the year 2020 and the percentage distribution is same as given
in the table, then what is the number of vacancies available in Delhi in 2020 ?

. 1.20 lakh
. 1.32 lakh
. 1.48 lakh
. 1.60 lakh
1)1
(2) 2
3) 3
(4) 4

afe ay 2020 B g F il &1 3@ 48000 § SR 7101 Hiqerd faa=or a9 €1 3 S arferer & faan
&, Aoy 2020 F fereelt F Suas Rfdaal ot Sem e g 2

12099
L1324
.1.48 ©E
. 1.60 TG
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
[Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafeaa arferet & au 2010 31 2020 & GRF A1d YR AR A1Ha: AR, fGee), gavars, 9oL, 995,
Oias SR Diaedl § sigel I Yafid Aieial & Ridaal o1 ufowd faao exfor mar g 1 ad 2010 @R
2020 P GRM 57 TER1 & RG] & Ho U] HH: 5.4 TG 3R 8.6 WG © | 59 aniere! § f§U 70
SHFS] & SR R WY B IR alfol -
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What is the approximate percentage rise in job vacancies available in Hyderabad from year 2010 to 2020 ?

.23.21%
24.52%
.26.24%
.27.41%
1) 1
(2) 2
3) 3
(4) 4

ay 2010 9 9 2020 TP BaRIEIG H FUG ARl BT Ridadl & @1 fda- wiord ot i g3 2

.23.21%
24.52%
. 26.24%
.27.41%
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The current SWAYAM platform is developed by the Ministry of Education and NPTEL, IIT Madras with the
help of .

A Infosys Ltd.

B. Google Ine.

C. TCS

D. HCL Ltd.

E. Persistent System Ltd.

Choose the correct answer from the options given below:

.Band D only
.Cand E only
.Aand C only
.B and E only
1) 1
(2) 2
3) 3
(4) 4

g | WY (SWAYAM) FT W™ 47 T 9 frad eai 9 el Taed iR tAdIdisud (NPTEL),
TS HTZCT (IIT) HETH gRI [daiad [Sar g |

A. 5pig fafiics
B. T0Iq 5.
C. ey
D. TgiUd [dfes

E. fifde fiaey fafies

Hi= 4T TTu famedl © 9 9l SR ®1 994 DI

b =

L

1[Option ID=19521]
2[Option ID=19522]
3[Option ID=19523]
4[Option ID=19524]
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Match List T with List IT

LISTI LISTII
(Compoments) (Learning Theory)
A. [Stimulus-Response 1. |Cognitivism
B. [Networking II. |Constructivism
C. |Schemas 111 |Behaviourism
D. |Reasoning IV. [Connectivism

Choose the correct answer from the options given below:

. A-I, B-II, C-III, D-IV
. A-IIL, B-IV, C-I, D-II
. A-IV, B-I, C-II, D-III
. A-II, B-IV, C-III, D-I
(1 1
(2) 2
(3) 3
(4) 4

B A




Tl 1 1 G 11 9 A e

I =
(T fregia)
i

(Ic=)
A [T sMHfET BRIREIE
B. [Hedfdn I [EReae
C. [EuE I [HdgRdlG
D. [dadl IV, [gaieHarg

frafafed famedl & 9 98t IR &1 997 Fifo «

1. A-I, B-II, C-II, D-IV
2. AL B-IV, C-1. D-I1
3. A-IV, B-1, C-I1, D-TII
4. A-I1, B-1V, C-II1, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19525]

2[Option ID=19526]

3[Option ID=19527]
4[Option ID=19528]

Sl. No.108
QBID:9201008

What does the letter 'R’ in instructional design model of teaching 'ASSURE' stand for?

1. Require Teacher Participation
2. Require Learner Participation
3. Require Society Participation
4. Require Parents Participation

1)1

(2) 2

3) 3

(4) 4

fRTE/07 BT ST 3HfiPed AIST 'ASSURE' H 3i&R 'R’ fud fag smarg 2

. 3(EHTIS WA B /e snaRadal

. fferTHEdl wfauTfTaT B e sraRgdar
. TS &1 Ui Pt gl

. HIc1-Ua &1 UiqyIRTe &t siasgasdl

(1) 1

(2) 2

(3) 3

(4) 4

R T

1[Option ID=19529]
2[Option ID=19530]
3[Option ID=19531]
4[Option ID=19532]

Sl. No.109
QBID:9201009

Given below are two statements:

Statement-I The basic function of exploratory case studies is to identify questions and select types of measurement before the main
investigation

Statement II: The basic function of cumulative case studies iz to make unfamiliar familiar and to give readers a common language about
the topic in question.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement IT 1s incorrect.
4. Statement [ is incorrect but Statement II is correct.
1) 1
(2) 2
3) 3




(4) 4

4 & Py ey M &

B 1 : FHG WBRUT (5 8) ATl BT Wi PRI G0 a9 1 § Ugd WHl & FHfgd &1 8k
709 & WhR! B 98- PR § |

HYH 11 : ST USR] (H4) S(eaa-1 &1 WIS ST S[11d &1 J1d S SR [AYarTd Uy & aR 8 6!
& 70 U 9HHE YT UeH ST ¢ |

SR Y & Teile 1, i fGU 7 fasedl O ¥ Had 3Ugad SR T 99 SI6T:

1. BYF 1 3R 11 §Hi T8t g1
2. PYF1 3R 11 g1 Td §

3. BYT 1 96l 8, A HYT 11 Tad 6|
4. B 170 8. A U 11 T8T B

(1) 1
2) 2
3) 3
(4) 4

1[Option ID=19533]
2[Option ID=19534]
3[Option ID=19535]
4[Option ID=19536]

Sl. No.110
QBID:9201010

Given below are two statements:

Statement-I SWAYAM Prabha iz an initiative of the Ministry of Education.
Statement II: The DTH channels are using the INSAT-30 satellite for Program telecasts in SWAYAM Prabha.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement IT 1s true.

(1) 1

(2) 2

(3) 3

(4) 4

RS myERumue:
B 1 : T UHT (SWAYAM Prabha) &7 S0 31 U6 U590 € |

HYF 11 : DTH e W4 (SWAYAM) UHT T BIUHH| & WERUI $ [0 57492-30 39U BT STAN P I6 ©
|

SR PYT & STl H, i fau 7Y fawedi & U Hel SR P15 DT
1. Y1 SR I T §
2. HYA1 IR 11 GH A g
3. HU 1 9 &, A HUT 11 39 B

4. PYTI A B, AP SYT 1 T B
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19537]
2[Option ID=19538]

3[Option ID=19539]
4[Option ID=19540]




Sl. No.111
QBID:9201011

Given below are two statements:

Statement-I The null hypothesis for testing of difference between means is generally stated as Ho: py # w,,
where (1) and (u,) are the population means of the two populations, respectively.

Statement II: When samples happen to be small samples and population variances are not known but assumed
to be equal, Z-test is employed for testing the null hypothesis.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement I is true.
1 1
(2) 2
(3) 3
(4) 4

RS ey

B 1 : Tl & did SR & URIEIU & [CTU Y= GRS I SR WR 58 FPR SHiioued 6al |dl 6 :
Ho : up 2 iy, 1y HIR p, Q1 TS & U THUSAI AIA |

HY 11 : e Hfaes! B Hfeesf §id & SR SIFRReaT URRUT 3R g1 & IR 9 91 ol o €, 76 X
OR& AT & URI&f0T & 7T Z-9<18i01 &1 wgad il oian g |

TRIGT FY & aiP J, 519 f2u 7 faeed § 9 I8t IR &1 994 Fifom:
1. DY 1R 1 S T &
2. Y1 R 11 FT ST &1

3. DY 1 T B, Qe BYT 1 3T B

O B R

4. P HTA B, AP SUT I T B
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19541]
2[Option ID=19542]

3[Option ID=19543]
4[Option ID=19544]

Sl. No.112
QBID:9201012

If a researcher wants to select a sample from a population such that each member in the population of interest
has an equal chance of being selected in the sample, the researcher is following:

. Quota sampling

. Convenience sampling
. Purposive sampling

. Random sampling

R

(1) 1
(2) 2
3) 3
(4) 4

Ofe U Mydd] SEe I Uiies &1 999 59 UHR S TA1 9164l ¢ [ 060 o9 3 yde 959 &
yfdesl <= & 99 3a9R U €I €. a1 59 Y &1 uiaes 994 Fefifaa s 9 eH-arg 2

1. HieT ufiesl 997
2. gl uiiesl 994
3. WASA® Hioes 99
4. ATEfEs® Uides 997
1 1
2) 2




3) 3
(4) 4

1[Option ID=19545]
2[Option ID=19546]
3[Option ID=19547]
4[Option ID=19548]

Sl. No.113
QBID:9201013

In the context of bibliographies and footnotes researchers sometimes use the abbreviation 'tr' which means:

1. transit
2. transported
3. translated
4, transeript
1 1
2) 2
3) 3
(4) 4

ey gt iR ure fewfi & Jeuf 3, Haft-aaf Siudal G8WeR v 3T Ian 3 ¢ foradr s &

1. gRagA
.dfed

. 3fed
fafamy

[PV S

&

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=19549]
2[Option ID=19550]

3[Option ID=19551]
4[Option ID=19552]

Sl. No.114
QBID:9201014

Given below are two statements:

Statement-I Quantitative research is typically highly structured whereas in qualitative research, the approach is
invariably unstructured.

Statement II : Both quantitative and qualitative research are concerned with data reduction.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but statement I is incorrect,
4. Statement [ is incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4

CIEEAAIC AT o+

HYA 1 : TS 1Y fafRya: siftre TR gian 8, Sais uned e I 3y SURH FRiudg =9 3
SRRfIT SIS |

Y 11 : HTATED SR U G PR & QY eS| & A0 I HalUd gid § |
SWRIdd Y & Tele U, i [y 7y faseul O 9 a8 Iugad TR &1 99 BIfeE:
1. HYF1 SR 11 & ol gl
2. FYF 1 SR I G Tad &
3. B 11 8, b Y 11 7Teid B
4. DY 1770 8, Qb HY 11 Tal 5

1) 1




(2) 2
3) 3
(4) 4
1[Option ID=19553]
2[Option ID=19554]

3[Option ID=19555]
4[Option ID=19556]

Sl. No.115
QBID:9201015

A student commits Level 2 plagiarism while submitting thesis/dissertation. As per UGC regulations, the

student shall be :

1. Debarred from submitting a revised seript for a period of one year.

2. Debarred from submitting a revised script for a period of 6 months

3. Asked to submit a revised script within a stipulated time period not exceeding one year.
4. Asked to submit a revised script within a stipulated time period not exceeding 6 months,
1 1

(2) 2

(3) 3

(4) 4

U faepmdf fayfaener SraM SighT & fafaHl & SraR S1u- e Yet/ay MY Uey H e 9l &
TR 2 BT R BT © | 9 I v siaria faemif =t <f&a farar s 2

1. U qy &I 31ale & fo1u YT uigfont 5|1 = 4 afold $= fqar s
2. 6 TTE @1 3@ty & fog Senfira aighe o =) 9 afofa &= far s |
3. 0% aN DI 3l & siax ST gHaafy o Ixife digfaft o o &1 we1 e
4. 6 T8 I 3(afY & 3ieR dfvd gHaraiy & Gfud uighaid Sfur &= ol Hel S|
1) 1
) 2
@) 3
) 4

1[Option ID=19557]
2[Option ID=19558]
3[Option ID=19559]
4[Option ID=19560]

Sl. No.116
QBID:9201016

According to Pierre Bourdieu cultural capital, through communication is for:

. Political benefit

. Military benefit

. Trade benefit

. Socio-cultural benefit

1) 1
(2) 2
3) 3
(4) 4

o Siféy & SFER, JUW0r & A1y I Sgfas doff € FEifea ma sars 2

o B O R

.
3. SR &1
4. YIS -HRPHIdD TH
@ 1
2 2
3) 3
4) 4

1[Option ID=19561]
2[Option ID=19562]
3[Option ID=19563]
4[Option ID=19564]

Sl. No.117
QBID:9201017




Inter-personal communication is most often considered as :

1. Dyadic
2. Within oneself
3. Many-to-many
4. One-to-huge masses
(1) 1
(2) 2
3) 3
(4) 4

3aR-agfdad JUY U: 59 30 H UHAT 9§ -
1. THPT (SHfS)
.90 0

3. 957 9 gd & 3R
4. U ¥ fauma Sagl #1 3R
(1) 1
) 2
3) 3
(4) 4
1[Option ID=19565]
2[Option ID=19566]

3[Option ID=19567]
4[Option ID=19568]

Sl. No.118
QBID:9201018

The mechanical model of communication is characterised by:

A Multiple-way flow
B. One-way flow

C. From one-to-many
D. Anonymity

E. Active audience.

Choose the most appropriate answer from the options given below:

A, B and C only
.B. Cand D only
.C.Dand E only
A.Dand E only

ko =

e Taa

1) 1
(2) 2
(3) 3
(4) 4

U9l & gifA® Afsa (Wfde) & AR g 2
A. Sgiay-TrT yas

B. U%-O1(f Warg
C.UH Y 3D & 3R

D. STl
E. Wiehd o/ 4Ia
19 fAu e fdowedl # ¥ Sad Sugdd SR &1 99 BIfoE:

1[Option ID=19569]
2[Option ID=19570]
3[Option ID=19571]
4[Option ID=19572]




Sl. No.119

QBID:9201019
Given below are two statements: ]
Statement [ : In communication, semiotics has the objective of describing how meaning is generated.
Statemnent IT: It is said that semiotics posits the meaning that is human construct of an observer.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement [ is false but Statement II 1s true.

(1)
(2)
(3)
(4)

I < Py Ry e &
U1 GUNU H, Thd fog d somr gl sm T sem sl g & sl pa Faran o g |
Y 11 : UG HEl Gl § b Havd 1A T8 WA ¢ [ 37 bl Uerep o or=ia T g |
IURI YA B 3Heiie B, A4 i U faeedi & 3 el SR &1 9g S

1. FYF1 AR I EH T G
L TYA 1R 11 &HT S 5

3. HYT 1 9d §, Al ST 11 3TA B

H W N R

[

4. Y1 HTA B, AP YT I FI B
(1)
(2)
(3)
(4)

H W N R

1[Option ID=19573]
2[Option ID=19574]
3[Option ID=19575]
4[Option ID=19576]

Sl. No.120
QBID:9201020

Given below are two statements:

Statement I ; Communication has the power to define, persuade and inform issues and events to the people.
Statement II: Communication cannot serve as a tool of demarcation among people.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT 1s true.

(1) 1

(2) 2

3) 3

(4) 4




ARy

ﬁﬂ:f_%l - oo H A S Sefa gl oIk gersi o1 uRuyifta 3=, Iae SR gfd o ot wfdd Rigd
gl g |

DY 11 - T S A S & U 91eE & =9 1 YaT ol s godi g |
IRIFd FYF & AT H, Aid [GU Y [AHedl H I Aol Sa= &1 99 Dol
1. FUA 1 SR 11 ST 9 B
2. FYF AR I EH SR

3. PYT 1 9 ¢, AT HYT 11 3T ¢

4. YT ITA R, AP YT I TI B
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=19577]
2[Option ID=19578]

3[Option ID=19579]
4[Option ID=19580]

Sl. No.121
QBID:9201021

Two old carg are sold for Rs. 48,000 each. One is sold at a profit of 20% and another at a loss of 20%. Find the
net profit/loss percentage and the total amount of profit/loss.

4% loss, Rs. 4,000 loss
Yo profit, Rs. 4,000 profit
o loss, Rs. 4,000 loss
% profit, Rs. 2,000 profit

(4) 4

3 R PRI H U IS B 48000 U H §91 S1A1 & | TP D1 20% P A1 TR 991 91l & 3R ZO Bl
20% B IR GAT ST § | Sl U aTH/gli Uii=Id &1 auT A1/eTH &1 &d o= IR J1d DITord |

4% BT, 4000 TTY B1F
. 4% 1Y, 4000 29T &Y
59 BT, 4000 ST §IF

2% TIH, 2000 T &Y

1[Option ID=19581]
2[Option ID=19582]
3[Option ID=19583]
4[Option ID=19584]

Sl. No.122
QBID:9201022

If 10 term of an Arithmetic Progression (AP) series is 34 and the difference between any two consecutive
terms is 3. then find the first term of the series.

16
10
7

13

s p

1) 1
) 2
3) 3
(4) 4




afe o wmiaR 4ot (udh g & 10a7 Ug 34 § SR 1 4 HOWId Ual & 497 3R 3 8, 79 Y@l &
UYUH 7 Bl 1d BT |

.16
.10
T
.13
(1) 1
(2) 2
3) 3
(4) 4

=W

1[Option ID=19585]
2[Option ID=19586]
3[Option ID=19587]
4[Option ID=19588]

Sl. No.123
QBID:9201023

The average age of a committee of 10 members is 42 years. A member of age 53 retires and a new member of
age 45 years takes his place. What is the average age of the new committes?

. 39.5 years
. 41.2 years
. 38.2 years
. 40.7 years

| SR

oo

1) 1
(2) 2
(3) 3
(4) 4

10 &gl aTel! [l Aiffa &1 o ad oy 42 a9 § | U 53 a9 &1 31 aTe 948 9al-gd gidl § 3R
DT VI TP 45 T & UD U Yad g1 ol Sl § | 31d 54 98 Giiifd & 39 oy fhai 5 2

.30.5aY
41299
.382 T4
.40.794
(1 1
2) 2
3) 3
4) 4

e

1[Option ID=19589]
2[Option ID=19590]
3[Option ID=19591]
4[Option ID=19592]

Sl. No.124
QBID:9201024

Consider a two digit number. If the digits of this number are interchanged, the new number obtained is lesser
than the original number by 18. If the sum of the digits of the number is 12, then find the original number.

B O R
. I -]
GO -1 L

1) 1
(2) 2
3) 3
(4) 4

&l il 1 Y W [GaR STy | 1S 39 WS & Sidh] 1 Sfell-aacil PR al Wil o, dd Ax W1 ST
UBd B () ST Y 18 BH I Nl § | AG TAT & 3{eh] BT AT 12 8, 7@ g Bl (F) T 1d Hiorg
|

FEAR bR




3) 3
(4) 4

1[Option ID=19593]
2[Option ID=19594]
3[Option ID=19595]
4[Option ID=19596]

Sl. No.125
QBID:9201025

In a certain coded language: (A) 'muj paa doda’ means "bring me water' (B) 'paa jo toda' means "'water is life' ©
'Jo lin kota’ means 'life and death'. Which of the following represents 'is' in that coded language?

1. paa
2. kota
3. toda
4. Jo

1) 1

(2) 2

3) 3

4) 4

fepefl Ffgd peag umerd .

A. 'Muyj paa doda' @1 3ref fafr o arex
B. 'paa jo toda' BT 31 qICR 51 AIRH'
C. 'To lin kota' BT 32 TEH UUS 3

39 Heas YN H Fafafed § @ & i B Fefia sRarg 2

1. paa
2. kota
3.toda
4. Jo

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=19597]
2[Option ID=19598]
3[Option ID=19599]
4[Option ID=19600]

Sl. No.126
QBID:9201026

"Ten milligrams of substance X was fed to ten mice. All of them died within two minutes. One could conclude.
This amount of substance is fatal to the average mouse". Which of the following statements regarding above
argument are true?

A Tt commits the fallacy of Hasty generalization.
B. It commits the fallacy of Irrelevant conelusion.
C. It is a strong inductive argument.
D. It is a weak deductive argument.

Choose the correct answer from the options given below:

.Aonly
.Band C only
.B and D only
. C only

R R

(1) 1
(2) 2
(3) 3
(4) 4




"X uere &1 10 Tl 10 951 &1 Raarar /| 4 94l &1 e § iR | S5 98 6y MaTd dédl ¢
%Xwﬁ%@ﬁ?ﬁw 31 c-34 H gel & fofU °1de § I" SURIad gfdd o da ¥ Fafefad oH-4
FUT TG 2

A. 39H feart aRiieRur &7 dda ¢ |
B. 3TH vfagiar RAfE BT adham g |

C. T8 TP gee SIS gfaa © |

D. 78 TP HH6IR HHEHS gfdd ¢ |

19 AU Tt fdwedl # 9 e Suged SR &1 99 ST

1. PadA
2. HadB AR C
3.%dd B AR D
4.%dd C

(1 1

) 2

@3) 3

(4) 4

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]

Sl. No.127
QBID:9201027

If the statement 'all golf players are rich persons' is given as true which of the following statements can be
inferred to be true ?

A. No golf players are rich persons.

B. Some golf players are rich persons.

C. Some rich persons are golf players.

D. Some golf players are not rich persons.

Choose the correct answer from the options given below:

.B and D only
.B and C only
. Aand D only
. Cand D only
1)1
(2) 2
(3) 3
(4) 4

ofe wya Tt Mier-faaret -t cafed & & 98t & =9 | fear mar § ae Fefafad oh-a sy ga s
& 3uH omfa b  IH AT |

A D18 1t Tiew faarst ot aafaa el § |
B. T TIed faare! 4=l afaa & |

C. TS ol Al e (EASI§ |

D. T % Adrs! o= oafad 7al g |

i< feu e fasedl © ¥ 999 SUgdd 9T &1 99 PifId:

1.%ad B AR D
2. FadB AR C
3.%dd A 3R D
4.Had C ARD

1) 1

) 2

3) 3

(4) 4

L

1[Option ID=19605]
2[Option ID=19606]
3[Option ID=19607]
4[Option ID=19608]

Sl. No.128
QBID:9201028




Which of the following statements is contradictory to the statement-" all dogs are friendly animals" ?

. No dogs are friendly animals.

. Some friendly animals are not dogs.
. Some friendly animals are dogs.

. Some dogs are not friendly animals.

JUER FUR NG Qe

1) 1
) 2
3) 3
(4) 4

Faffed & § oH-a1 Sy, it F e TR 8 $Y- BT T § 2

1. 3% N o g TR TR © |
2. 3 fipad TR $A 81 § |
3. 90 TFad TR P & |
4. 99 od fiad TR 51 § |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19609]
2[Option ID=19610]

3[Option ID=19611]
4[Option ID=19612]

Sl. No.129
QBID:9201029

Which of the following statements are logically equivalent ?

A. Some fishes are not amphibians.

B. Some fishes are amphibians.

C. Some fishes are non-amphibians.

D. Some non-amphibians are not non-fishes.

Choose the correct answer from the options given below:

.Aand B only
A, B and C only
A, CandD only
. Cand D only
(1) 1

(2) 2

3) 3

(4) 4

PR 1H-3 By dlfdhe =0 d A © 2

A TS A SHTR TS & |

B. $© A0l SHTR G |

C. TO O IR-SUTER G |

D. $8 IR-IUTR, RIS 75l § |

e feu e fawedl & @ Ted SUgHd SR &1 90 BT

1. $Had AARB
2. HaT A, B AR C
3.PAAA, C 3RD
4.FadC ARD

11

) 2

@3) 3

(4) 4

JUERY FURN S R

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]

Sl. No.130
QBID:9201030




"There is smoke on the distant hill. Since smoke is always accompanied by fire, the hill must have fire too."
Which of the terms corresponds to the Sadhya (major term) in the above argument according to classical
Indian school of Logic?

Hill
. Fire
3. Smoke
4. Smoky hill
1) 1
) 2
@) 3
) 4
"R YT gdd TR §3if & | IS Sfel Y3if §1d1 & 961 Aad 3 gidl 8, Tdd W 3{axd &1 31 i gt
fﬂ%@'%mﬁwm’iqm@aww%agme SWRIFd gfck o faiferd &17-91 Ug 91 (&8 Ug) &
TREY 2

| S

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]

Sl. No.131
QBID:9201031

A song stored on a CD is, on average, 4 MBytes in size, Amit wishes to transfer 4000 such songs onto a
memory stick. Estimate the minimum size of memory stick, in GB, that Amit will need to use.

8GB
16 GB
.32 GB
.24 GB
1) 1
(2) 2
3) 3
(4) 4

S IR TR 7, 3a PR 1 4 TIMETEe BT § | 3HfEd T 4000 il 1 A0 e & wymiaRa
BT ATl § | HIDT BT (o HHT 1 I S15e & YAaH (69 DR Bl AHIR] Red B WaRT
DI STaRgD I BRI |

8 7T a5y

16 71T aTscd
32 T arged
24T ERCH

1) 1
) 2
(3) 3
(4) 4

T

e

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]

Sl. No.132
QBID:9201032




Which of the following statements are true ? 5G-enabled technology will soon replace 4G-enabled technology
for mobile communication worldwide. Potential advantages of 5-G enabled mobile technology include:

A. Greater interconnectivity for Internet of things
B. Greater download speeds

C. Less bandwidth

D. Greater end-to-end delay.

Choose the correct answer from the options given below:

A and B only
.B and C only
. Cand D only
.Aand D only
1 1
) 2
3) 3
(4) 4

HaTsd YUY & o fayeamd} R R 451 SHfiq venfiet o s wafia venfiet <y & ufowifia
B I | 5ot waita gasd v & guyrer @yl 8 Fufafea § S e wfiia g 2

A. ST 3T vy 8 sifUe sid-aie-iadl
B. SIS @I 9% i

C. oH dsfdsy

D. T% R T TR R a9 44D faems

e fdu U fadedl © | Il SR BT 90 HITE:

1. %ad A 3R B
2. HaAB IR C
3.%dd C AR D
4. FATAIARD

1 1

) 2

(3) 3

(4) 4

ol o Mt

1[Option ID=19625]
2[Option ID=19626]
3[Option ID=19627]
4[Option ID=19628]
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Given below are two statements: With reference to digital initiatives of Government of India.

Statement I : BHIM is a payment app that lets you make simple, easy and quick transactions using Unified
Payments Interface (UPI)

Statement IT: Courses delivered through SWAYAM platform are made available at minimal cost.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

1 1

(2) 2

3) 3

(4) 4




YR TWHR &I AP Ugadaiyl & dev d gl sy faum &

BYT 1 : STTISISUH () T UHT 7TAH U & SS9 g-1gs UHeH UY (gUIsis) BT WaRT R IR,
YT 3R g HoUdeR PR aal g |

FUA 1 : G BT & AT ¥ YT U <AaH arTd R ST § |
IRIFd FYF & AT H, Aid [GU Y [AHedl H I Aol Sa= &1 99 Dol
1. FUA 1 SR 11 ST 9 B

2. FYF1 AR 1 EHT ST B

3. PYT 1 9 ¢, AT HYT 11 3T ¢

4. YT ITA R, AP YT I T B
(1) 1

) 2

(3) 3

(4) 4

1[Option ID=19629]

2[Option ID=19630]

3[Option ID=19631]
4[Option ID=19632]
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Which one of the following acronyms is matched incorrectly with its full form?

. BIOS - Basic Input/Qutput system

. PDA - Personal Digital Authentication
. GUI - Graphical User Interface

. WWW - World Wide Web

1)1

(2) 2

(3) 3

(4) 4

frafafEa & ¥ o w Wie A s o A1 @ vt ave D T e mm € 2

1. W38 31U - SR 292/ 23eye RRed
2. Hi3IY - T f&iiea sidfedhe
3. SIS - ANMtheh el Yok SexhY
4. 559 S&g 5o - %o dIgS ag
1) 1
) 2
3) 3
) 4

| S

fa

1[Option ID=19633]
2[Option ID=19634]
3[Option ID=19635]
4[Option ID=19636]
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Identify the correct order of the following terms A-D to complete the sentences given below about digital still

and video cameras: Cameras that handle a higher number of

those with a lower number. Images that are stored in a
trore storage space than images that are stored ina

will be able to capture more details than
format have not been processed and will take up
format. The of your storage device determines

how many images vou can store.

A JPEG

B. Raw

C. Megapixels
D. Capacity.

Choose the correct answer from the options given below:

.C.B,A,D
.B.C

.D
G

w]

1

2.A,
3.B,
4.D,

B 2w

sl O]

1) 1
) 2
(3) 3
(4) 4

fsitea fea SR difsdl $mR1 & ey & g a1l f 91 33 & foe Faffed ual A-D & 98t 3iged
P Ugd Pio ;

DI TR YA D] U T PHR 30| HH TAT qTal B gl 1 e [gavor e o2
qIe] | UR=Y § 1S1Id Sidl o1 WshHu T8l [dar T g 3R d UR=Y § UsIid sfagl
1 qeHT 1 M8 SR E a7l | 37Ud USRI IS HT Feiid @xal g & e fea-
Siqgl BT SR & Hl |

A, Sdigolt

B. 3RUSEH,
C. B

D. &Hdl
i U U faB el © 9 Te ! SR &1 90 HIed:

1[Option ID=19637]
2[Option ID=19638]
3[Option ID=19639]
4[Option ID=19640]
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Given below are two statements:

Statement-I United Nations General Assembly declared 2010 as International Year of Biodiversity.
Statement IT : 2010 was also the target year to achieve the halt in the decline of biodiversity.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement I is incorrect.
4, Statement I is incorrect but Statement II is correct.

1) 1

2) 2

(3) 3

(4) 4

kd =




I < Py Ry e &
HY 1 : GG AP B HSRIHT A a¥ 2010 BT SIARRIPTA oia fafderdr avf wifdd faam o |
Y 11 : 2010 T8 Aed au +f o forgd Sia fafdyar & s/ o favm i ura s o7 |
SWRIE Y & eile U, i fau 7y faseul O 9 a8 Iugad STk &1 99 BIfe:
1. HYF1 IR 11 & Fol gl
2. FYF 1 SR I G Tad &
3. HY 11 8, Tifch YA 11 TTeid B
4. FYF 17794 §, AT DU 11 T8 B

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19641]
2[Option ID=19642]
3[Option ID=19643]
4[Option ID=19644]
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Given below are two statements:

Statement-I Vision of International Solar Alliance; Every home no matter how far away, will have a light at
home.

Statement IT : Mission of International Solar Alliance: Let us together make sun brighter,
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement II 1s incorrect.
4. Statement I is incorrect but Statement IT is correct.
1) 1
(2) 2
(3) 3
(4) 4

I < Py Ry M &
BYT 1 : SARIPI IR HiY BT P10 (faer): Udie R, =18 g8 fober1n i g2 &1, WepTl &I |
FUA 11 : SIS R Tie) 1 719 50 9 a o g &l SiR 3ifde i & |
SWRIG PYT & HTaiD H, 4 3T T f[deedi § 3 Gad SUad SR 1 991 Bifoig:
1. HYUF 1 AR 11 1 T €
2. HYF1 IR 11 GH TTd
3. BYT 1 9ol g, Al HY 11 Tad 8|
4. DY &, Al PUA I TEI & |

1) 1
) 2
3) 3
(4) 4

1[Option ID=19645]
2[Option ID=19646]
3[Option ID=19647]
4[Option ID=19648]
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Full form of IPCC, a nodal agency in the context of climate change, is:

1. Intergovernmental Policy on Climate change
2. Intergovernmental Panel on Climate Change
3. International Policy on Climate Change
4. International Panel on Climate Change

1 1

) 2

3) 3

(4) 4

SIdar] YRac- & ey s bad Toidl sgURiRl ST R A Fa H A S e 2
1. ZeMa-Hed giterd o9 Famshe 3w

2. Zeg-ted U9 34 Tazde O
3. SeXYHd Yilerd! HF FgHe a9
4. 5EAYAT 9T 3 FASHE 9o

1 1

() 2

(3) 3

(4) 4

1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]
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Which of the following different sized particulate matters are required for the determination of Air Quality

Index (AQI) in India?

A. PM1 (Particulate Matter Size equal or less than 1 micron)

B. PM 2.5 (Particulate matter size equal or less than 2.5 micron)
C. PM 10 (Particulate matter size equal or less than 10 micron)
D. TSPM (Total Suspended Particulate Matters)

Choose the most appropriate answer from the options given below:

A and B only
.B and C only
.Aand C only
.B. C and D only
1) 1

(2) 2

3) 3

(4) 4

HRd H arg A[UIal a®ie (AQI) & HuRUI & oY 5 H & i 3R aret B3 1 I wiUes g uardf
B TATHAT Gl § 2

IS PO S

A.PM1 (1 HISHH HR J HH U1 S0aR & BB ggre)
B. PM2.5 (2.5 HIS®H PR ¥ HH U1 SR16R & H015 14 uare)
C. PM10 (10 TTSHH HR J HH T §R16R & HUdg gard)
D. TSPM (9 aifad Hi0rp g uare)

= fau U fasedl o ¥ gl SUgHd SR &1 90 Dieid:

1. %ad A AR B
2. FaaB AR C
3. PHdd AR C
4. HddB, C IRD

1 1

) 2

3) 3

(4) 4

1[Option ID=19653]

2[Option ID=19654]

3[Option ID=19655]

4[Option ID=19656]
|
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Given below are two statements:

Statement-I Most of the world's geothermal sites are located in the circum pacific belt known as 'rim of fire'.
Statement IT : Himalayan geothermal fields in India are also part of 'rim of fire'.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement I is incorrect.
4, Statement I is incorrect but Statement II is correct.

1) 1

(2) 2

3) 3

(4) 4

I < Py Ry e &
FYF 1 - fay & ifrpaR yadia e 2 3T SR & &9 F 71 uR-wid ugl § sEfRa € |
HYA 1 : YRA J gATerdt Hyardtg &= off R it B &1 4§ |
SR PYF & el H, = R Ty 9wt & I e Sugdd STk &1 99 ST
1. YA 1 AR 11 F el &
2. BYA 1 SR 11 &1 Tad g
3. HY 11 8, Tifch YA 11 TTeid B
4. PYT 1T 8. Al PUA 11 HEI & |

1) 1
(2) 2
3) 3
(4) 4

bd =

1[Option ID=19657]
2[Option ID=19658]
3[Option ID=19659]
4[Option ID=19660]
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In order to enhance interaction and promote mutual understanding between people of different states/UTS including university students
'Ek Bharat, Shreshtha Bharat' scheme launched by Hon'ble Prime Minister

. Shri Narendra Modi

. Late Shri Atal Bihari Vajpayee
. Manmohan Singh

. Late Shri Chandra Shekhar
1)1

(2) 2

3) 3

(4) 4

fafire ol SR SEenid wew & @ (om H f3yfaemen & o Wt o ©) & 99 slafsmr sem
R SO THSER B 9g1dT 37 & O Ue YRd 98 YR dioH] @1 [T Fafaiaa am-g e
< fopan -

| R

b o

1[Option ID=19661]




2[Option ID=19662]
3[Option ID=19663]
4[Option ID=19664]
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Given below are two statements:

Statement I : By 2040, all higher education institutions (HEIs) shall aim to become multidisciplinary
institutions and shall aim to have larger student enrolments, as per NEP2020 recommendations.

Statement IT: As per NEP 2020 recommendation, the aim will be to increase the Gross enrolment Ratio in
higher education including vocational education from 26.3% (2018) to 50% by 2030.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement [ and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement 1T is true.
(1) 1
(2) 2
3) 3
(4) 4

CIEEAAIC AT o+

BYA : T3 AT N, 2020 B SFRIAISH & AR ¥ 2040 TP Tt I=aR e SR (T9.3.315)
@! Igfavgd YW g &1 Ted T&1 1T 3IR geck ST A5 P1 9&d TG 81 |

DY I : 75, TR1&T 11T, 2020, BT SR & IR, GHNID 8] Aied SwaR (&1 H Jbd AHiH-
3YTA DI 26.3% (2018) T FETHR T 2030 TP 50% B 1 T&H BT |

SRl PU & 3ATeilep H, i fy 7Y fawmedt # & el SR &1 =0 Sifoe:
1. DY 3R 11 ST T B
PYF 1 AR IS AT

3. DY 1 9d €, Wit YT 11 3T B

b2

S ]

[

4. YT ITA R, AP YT I T B
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19665]
2[Option ID=19666]

3[Option ID=19667]
4[Option ID=19668]
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In 1904, Curzon wanted to bring which of the following changes in some of the existing universities through
the enactment of Indian Universities Act 7

A. An enlargement of the functions of the universities

B. A reduction in the size of the university senates

C. The introduction of the principle of election to the senate

D. An increase in the size of the university senates

E. Stricter conditions for the affiliation of colleges to a university.

Choose the most appropriate answer from the options given below:

.A, Cand E only
A, B, Cand E only
.A.C,Dand E only
.A, Cand D only
(1) 1

(2) 2

3) 3

4) 4

b —

L




I 1904 B, YR fayfaeay Sefifad & S a0- gRI, $oiF $8 dalal [ayfdemedl o
[rafared aRad= o =msar o -

A foufaenean & ol &1 g7 faaaraRads

B. fasfa=ner JiHe/ Syl & PR gcian]

C. HiHe ¥ g91a & Rigr &1 Jad-

D. fagfaermerd e & oR H gig

E. fayfaene O Siwl o E<dl ®1 90l &1 HBR G911

= fau v famedl # ¥ 96 Sugdd SR &1 99 P

1. HATA, C AR E
2. HAA A, B, C, AR E
3. HaAA, C, D IARE
4. 94dd A, C, 3IRD

1

) 2

(3) 3

(4) 4

1[Option ID=19669]
2[Option ID=19670]
3[Option ID=19671]
4[Option ID=19672]
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Given below are two statements:

Statement-I Indian Council of Philosophical Research (ICPR), was established in 2000 by the University
Grants Commission (UGC) as an autonomous organization.

Statement IT : Mahatma Gandhi National Council of Rural Education (MGNCRE) formerly National Council
of Rural Institutes (NCRI) was established in 1995 as a registered autonomous society in Hyderabad.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement I 1is incorrect.
4. Statement I is incorrect but Statement II 1s correct.

(1) 1

(2) 2

3) 3

(4) 4

RS ey

B 1 : URA R ST URYE (318 11 UL3MR.) @1 RIM9AT |9 2010 H fafaanerd siaM s
@S ) GR1 US W W6 & =0 8 &1 g of |

FYF T : GaxIaTE § 8 1005 T T il gt Tredto e uivwe (w0, s uA 43R 2.), gd Am Iy
ATHIOT SR URYE (U1, 31R. 311, D1 RIYA] U Usilopd WA 9ge] & =9 8 &1 71 of |

SWRIE Y & eile U, i fau 7y faseul O 9 a8 Iugad STk &1 99 BIfe:
1. HYF1 3R 11 &1 Fel 5
2. FYF 1 SR I G Tad &
3. HY 191§, Wit Y 11 7T B
4. FYF 17794 §, AT DU 11 T8 B

1) 1
) 2
(3) 3
(4) 4

b=

1[Option ID=19673]
2[Option ID=19674]




3[Option ID=19675]
4[Option ID=19676]
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Given below are two statements:

Statement-I National Board of Accrediation (NBA) was established by UGC.

Statement II : National Assessment and Accreditation Council (NAAC) was established by AICTE.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement I is incorrect.
4, Statement I is incorrect but Statement II is correct.

1) 1

) 2

3) 3

(4) 4

I < Py Ry M &
HUF1 - TG TATH SIS (TH.A1.0) BT RO g ol L gRI B 7T o |
FUA I : AP pa SR YA URTE (8L BT R0 T.ag 815, (AICTE) GRS 715 4 |
SR BY & ATeile H, - Gy 7y faseul & 3 a8 Iugad TR &1 99 BIfeE:
1. HYUF 1 AR 11 1 T €
LB 1 3R 1 &H1 Tad B
3. BYT 1 9ol g, Al HYT 11 Tad 8|
4. DY 8. Al PUA 11 HEI & |

1) 1
(2) 2
3) 3
(4) 4

| SR

[

1[Option ID=19677]
2[Option ID=19678]
3[Option ID=19679]
4[Option ID=19680]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity). then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it 1s insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

g ey &1 ufeu 3R vy &1 IR S

ERI: I S T BT 4 Fepy oo & fod SR 5 d SMd & & d 9 © | Sa6x0 & ¥9
o, g1 g9 W & b ®[d a%U U G B (B YU] & PRUN HIHNT Bl 8, 99 SHD HTHR &
I Fo- WG S R TR | 9 9 Ry @1 59 difdaal o FIEAEe diH1 & 4 8 @E ST
& | duft gg sy el &1 AFTaRH & aTel SR S & T6l oHd & | S&16R0 & 9
¥, 59 ¢9d § [ .09 o diqar &, uelt o € iR fAqu g1 o § | A i RERaR & of®
V(Ui ¥ 1 U8 SFHM O 9ebd ¢ 1o Y&l Ud I 3 IR I &1 3R SHTaNTHA B ¢ | 86 U HY
o faefd &= 9@ d © o uall T & 38R aad @d © | 3iHa Y&l 9 9 ad a9 &
A1 SMTEATAD A1 Bich © | T TS T B ST FT-TeTs db- alfd® U § siftie
fasre 8, e vt PRIR BT € Wd SHR I S 9l 81 | gf i o g & forg g9 sgan
HATFHIHS dao-1 R 1R P § il e0R U U1 ¥ sifdarl g & |

Fefi-mft ahT & WY €, SiaElD B8 SR P A Wkl § | 3F® oafad Sy T Sideiy, gorTead],
=dera SR U 3l DI WiBR B3 H fawd 38d € | g9R] Halie geayu! giell § 4 56
Glol 95 d91-ie [aftd] iR axqy dewidl & $RUI 6] g3 SUg 59 HRUI 55 1@ slidddi 30 fawdi 4
YTGYUl E ) TR 3 Havall BT SRV DR 35 U S S Wearil a1 o SR e 4 |

Given below are two statements:

Statement I : The fact that an apple will fall to the ground when it releases from the tree, is an example of
deductive reasoning.

Statement IT: Most important scientific discoveries are made only because of sound reasoning of the
investigators.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement 1T is true.

1 1

(2) 2

3) 3

(4) 4

I < Py Ry e &
FUA 1 - U5 a2 IS T &1 3aTexvl § fd 341 I Fe-l R 98 o IR R |
HY 11 : Faliee Agaqul dgl-ed @iol Siaealsl &1 (a9 (319) 9@ & SRU gl 6l Ui 3 |
IIRI YA & 3Heiiep 1, 4 3 7Y faeedi & 9 Hel SR &1 9g S
1. FYF 1 SR 11 &F1 T &
2. FYF 1 SR I G S A

3. HYT 1 9d 8, A ST 11 3FA B

4. PYT1 T, APT PUT U IT B
1) 1
() 2




3) 3
(4) 4

1[Option ID=19681]
2[Option ID=19682]
3[Option ID=19683]
4[Option ID=19684]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it 1s insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreazonable to fellow scientists.

g ey &1 ufeu 3R Uy &1 IR difo

ERI: I S T BT 4 Fepy oo & fod SR 5 d SMd & & d 9 © | Sa6x0 & ¥9
o, 31 g9 W & b R[d a%U U G¥R I (B YUl & PRUN HIHNT Bl 6, 99 SHD HTHR g8
I Fo- W HE S R TR | 9 3 Ry @1 59 difdaal o FIEATee ddH1 & =4 8 OFT ST
& | duft gg sy el &1 AFTaRH & aTel SR S & T6l oHd & | S&16R0 & 9
¥, 59 ¢9d § [ .09 o diqar &, uelt o € iR fAqu g1 o § | A i RERaR & of®
V& ¥ 1 U8 SFHM O §ebd ¢ 19 Y&l Us I 9 3R I &1 3R SATGNTHT H3d ¢ | 89 U FiHy
o faefd &= 9@ d © o uall T & 38R aad @d © | 3iHa Y&l 9 9 ad a9 &
A1 SMTEATAD A1 Bich © | T TS T B ST FT-TeTs db- alfd® U § siftie
fasre 8, e vt PRIR BT € Ve SHR I S el 81 | g o g & forg g9 sgan
HATEHTHS da-1 R (2R P € i eOR U 418 ¥ sifdarl g & |

Fefi-mft ahT & WY €, SiaElD B8 SR P A Wkl § | 3F® oafad Sy T Sideiy, gorTead],
=dera SR U 3l I WiHR B3 H fawd 38d € | g9R) Halie geayu! Giell § 4 6
Giol 95 a91ie [aftdl iR axgy dewidl & $RUI 6] g3 SUg 59 HRUI g8 1@ slidddi 30 fawdi 4
YTGYUl E ) TR 3 Havall BT SRV DR 35 U S S Wearil a1 o SR e 4 |

Given below are two statements:

Statement [ : The inference that birds migrate seasonally is an example of deductive reasoning.
Statement II: Deductive reasoning 1s always correct.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement IT are false.
. Statement [ is true but Statement I 1s false.
. Statement [ is false but Statement II 1s true.

kd =

o

1)
(2)
(3)
(4)

H W N R




I < Py Ry e &
HYA 1 : T A, [ 9eft 00 & S aR Yaw- $Xd §, HAes a1 B 3EeRu § |
YA 11 : FRTHATES o1 GHRIT g1 §Id1 § |
JWRIdd YA D 3HTelld H, i U 1Y fadedl § 9 Hel ST o1 997 SIfoE:
1. FYF1 AR I EH T G
YA 1 3R 11 G 3R B

3. HYT 1 9d §, Al ST 11 3TA B

[

4. P AR, APT YT I TI B
(1)
(2)
(3)
(4)

H W N R

1[Option ID=19685]
2[Option ID=19686]
3[Option ID=19687]
4[Option ID=19688]
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reagoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes if 1s inzight, as much reasoning, that leads us to an answer, Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Which among the following play a role in achieving success in research 7

A Reasoning
B. Insight
C.Luck

Choose the most appropriate answer from the options given below:

. A and B only
.B and C only
A and C only
A, BandC

1)1
(2) 2
(3) 3
(4) 4

e o Aoherar Wit & 4 3 ¥ f-for @1 i gt g 2
A, T
B. 3{ae®

C. H'g

S PR S

= fau v fae el H ¥ 960 Sugdd IR &1 99 i

1. %ad A 3R B
2. HaAB IR C
3. HaAAIRC
4. A.B3RC

1) 1

) 2

3) 3

(4) 4

1[Option ID=19689]

2[Option ID=19690]

3[Option ID=19691]
4[Option ID=19692]

Sl. No.149
QBID:9201049




Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity). then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it 1s insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as Reason R.

Assertion-A: We often rely on inductive reasoning in our day-to-day life.
Reason-R: Inductive reasoning is more sound logically as compared to deductive reasoning.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R is not correct.

. A is not correct but R is correct.

1 1

2) 2

3) 3

(4) 4
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(2)
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1[Option ID=19693]
2[Option ID=19694]
3[Option ID=19695]
4[Option ID=19696]

Sl. No.150
QBID:9201050 _
Read the following passage and answer the question:

Ideally. scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule iz inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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According to the passage, some of the scientists were able to make important discoveries primarily because of
their :

A Passionate interest in the subject
B. Superior scientific method
C. Objective detachment.

Choose the correct answer from the options given below:

L. Aonly

2.B and C only

3. Aand B only

4. A,BandC
(1)
(2)
(3)
(4)
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1[Option ID=19697]
2[Option ID=19698]
3[Option ID=19699]
4[Option ID=19700]




